                                           Вариант 1

Фамилия______________________
Заполните таблицу.

	Уравнение
	Коэффициенты

	
	а
	в
	с

	3х2+2х+4=0
	
	
	

	-3х2+7х-4=0
	
	
	

	х2-х+1=0
	
	
	

	2х2-9=0
	
	
	


                                     Вариант 2

Фамилия______________________

Заполните таблицу.

	Уравнение
	Коэффициенты

	
	а
	в
	с

	9х2-х-8=0
	
	
	

	-5х2+2х+3=0
	
	
	

	7х2-8х+1=0
	
	
	

	5х2-19=0
	
	
	


                                   Вариант 3
Фамилия______________________

Заполните таблицу.

	Уравнение
	Коэффициенты

	
	а
	в
	с

	2х2-3х+1=0
	
	
	

	-х2-5х-6=0
	
	
	

	25х2-10х+1=0
	
	
	

	2х2=0
	
	
	


                                                                                       Приложение 1
Вариант 4

Фамилия______________________

	Заполните таблицу.

Уравнение
	Коэффициенты

	
	а
	в
	с

	2х2-5х+10=0
	
	
	

	1-3х-2х2=0
	
	
	

	х2+х+2=0
	
	
	

	х2-5х=0
	
	
	


                                    Вариант 5

Фамилия______________________

Заполните таблицу.

	Уравнение
	Коэффициенты

	
	а
	в
	с

	2х2-3х-5=0
	
	
	

	-х2+4х+5=0
	
	
	

	2х-7=х2
	
	
	

	х2-16=0
	
	
	


Вариант 6

Фамилия______________________

Заполните таблицу.

	Уравнение
	Коэффициенты

	
	а
	в
	с

	7х2+9х+2=0
	
	
	

	-6х2+13х+5=0
	
	
	

	4-3х2=11х
	
	
	

	15х2-5=0
	
	
	


